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@vs: & (SECTIONA)
HUFSTATT - AT
JqfeaTy - e

Unseen Reading Comprehension 15

1. PNy SATeed qioer T9 §& T Iuid
A ST ST=eal @l Igeht Ul & I §&hd 9 ST :

Read the following two passage and answer the questions in Sanskrit :

() 9g9: TR

Afe qaR It A o e st ) g wgeE: faorent @1
giemeer: fEam: ugrar ar we grat @ JEnas: qor whE: o |
: SEE]

g9 Udg q foamam:, qUiy Uad S IREEasdd | Rl

YT | YA T4 A draer-arel 9o | g5 S+ 79 gl 7 W,
qed | FgYg®: A | favageedl I wary ’ [ UM |
GEHRICLS AT S qdISAferh gelsAttd, o o=
@AY UT gRafd | qd aE ar aq g - wd  faEd uag ag T

q smRerrgdfaad greg wHel: T zafer: | 37 HA Fe
e dfad Jamhee: |
g
(1) wHTe
U g ﬁ I
Answer in one wi 1ox2=1
@ o

: g AR -
rin a complete sentence: 2
G I Gl b R o

PRIIEENE S I

PRIEENICE ClC | L

Answer as directed : Yox4=2
() oRa o= &: |ivee:?

@) T fedar ausafia o= #gue e

(i) gy o= o foeiueq o1 9ghy?

(V) ‘9T S AT WO dae: o faesug e
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(@) fadfa: s
AT S R ST STAISHHEI | ST araq amefaanea: qar: wrid:
oot A | fogid arfd awmfig oo d e gan, aReRd I8 gftear |
ST F&] HRIS: WUTHETHIIT d&l § AR 8 ROy | AT Jdaad
- 1 faorg: @A 9w, SEnY 9 gid 99 fuq: fead qu et | eeme e
WU gfd FHgEh =i Y Al (76 faan foae @ whe © g O
foe = Rnfemar, o @ WG @ IREFueya: | wigad: g :
TERIRG ST, AN hdd g aomEn: Tqoed | O

LESIE
(31) THISA I
U & § I 4T - *
Answer in one word : @ ox4=2

() = T Qe Sfe: ?
(i) i fet amefoardr stoeany?

(i) W w0 fug: SerHdERey
(v) @: fag =1 farferdang?

(@) YofEERE IO
ol I H S A

Answer in a complet

1x2=2

Y F8 ‘AT 98 §eM U fhes T ugeE §
ﬁr g1’ In this sentence for whom‘&ar pronoun used ?

Answer as directed : 1x3=3
() ‘da g fraq aw: sfar o wqgde fege
(i) foed aRid FERgY 7= fass feg e
(i) ‘smRTE T o= fb 9 ugwn?
(@) o= AT Fd wqfa Sfive foed |
T ST B f ata o fara

Write a suitable title for this paragraph. 2
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@vs: @ (SECTION B)

TAATHHAET]

TATHS A@-T
Writing Skills 20

2. TUI: Sradzar] JerEr STEifiad wel G SuRgiaeEl faad
O[T { S W e (e R w g9 Soe-gien § foag

Re-write the following story, taking hints from the words given in the box below : x1@=10

T AT AGAAI, a99 garg@ 9 fRa® (i)

wu (i) I ey, s=awaq (i) q [
(iv) | Tehal | (V) ThH STENRY W:dasrw
g3t (Vi) A T AT e qugante i) |
A AT wedd, Ad T Wi STeq R |7 fﬁ%zﬁ R | ATaed
T e (viii) BT A | GEGICEHIEIE Rt
et | | A A - o8 R oI, SR 11 R® (ix)

e & AW foEma ) s amE (X) @ AMRETAAT] | T geel EHioT

IR T SHISTE 9T &M

"3:
3T, dUtd, 9 , , U, ST, UHHieq, gardifsd:, qrE, gredand |

L 4

TR O 3 fud Fepde a9 AR fore:

“qATROT T W HEhd ¥ &8 A fafau

ntences in Sanskrit on the topic 'Protection from Pollution' taking words
1x10=10

AT
JEOTT BEATHIE:, TEIY UAUATHM A9oTHE:, TR [AQeERm= 9 goe &y

Y, AFHT GO AT, GYAT FfEr Srareegee |
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gve: T (SECTION C)
qfSTIST - TS
gfeair - sEstas

Reading Comprehension 45
4, SreffaRad Tensl, wensl, AeAist T ufSmr U ATy HEhaA SORd
rifoiaa Terer, TereT q9r AediT ® UgH fGU T YAl b IO JATHES H&hd

Read the following prose-poetry-drama passage and answer the s ds per
instructions in Sanskrit : 6

() e
TEEd A8 - “9% | Hd @l Egd | T IR " g
qd e - “Hf TEed! T FREINTEd @@ | HUHE a9 TS
At | TR UshHes @i I | { ety

U%h & H I AN ¢
Answer in one word :

) e & B2
@ e wd b

(@) YofEERe S
gl A o :
Answer in @e sentence : 2
?

q: A T

EESIE
(31) THYST A : @'

Yox2=1

swer as directed : 1x2=2
() ‘orgar s fohq SToTa o UgTh?
(i) ‘T o & faamTens agwd
T
AHEfd festfa aroHaTeRfd |
oI gaeata fag qfa @i
qAzia: ®gg % T B GaAr ||
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EESIE

(31) THYST A :
T & § I ST ¢
Answer in one word :

() @ar feg a=ad @i ?
(i) T @t & Rsatae

(@) YofEERE IO
qof TR H ST A
Answer in a complete sentence :

goufa: gai fb fb wafar

(@) Tenfrder] SoRa
fvesT I T ¢

Answer as directed :
O et | st
i) g= = & W

ECCHENI I HE GO o AR el

Yox2=1

1x2=2

- (W@q rver <f T A ST e
2

MG
@ qAThanIar dET |
qAADHA SAHISHATET: | |

(31) THUS I
T &€ § I ST ¢
Answer in one word :

() ‘oTeaHe’ s BUTHRNNET:?

(i) oreT: BT gl

Yox2=1



5.

49

(@) Yot I -
ol ae § I AN
Answer in a complete sentence : 2

AT G R =T ?

(@) Tfee SRA
TEST I T ¢

Answer as directed : x2=2
() <oET S qEE: S G ?

(i) ‘g = P oMU 9gwe? 0

@ligauel Ied e geeer At foad @ ¢
wﬁw%@ﬂﬁﬁqwaﬁﬁﬁﬁwmzc

Write the correct meaning of the underlined wo tching them with the given
meanings :

Yox4=2
(31) Ura: WA HEAEE e | &

(%) FropemEr [ge a1 @t e ar @)
0 SEa
@) =wE
(i) aTeefEaT
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6.

49

W@EAuel™ Mg G0 HEd

W@iEa &l W SenRa gga-fmtor sy

Frame questions based on the underlined words : 1x4=4
() §&F T e G

() O wfafeiear S |

(i) TEACTHRIATIIETTAET |
(v) FERSET ET

FrefferfauraTe: Repedyfd: HsouIieqerddar hod ¢

Frefafaa smaret & wsour & g & FeEar 4 R 9fd #ing 9

Fillin the blanks in the following explanations with the help of words gi@w oX: 3+3=6
(31) Suea Yayd wwEaEl quid fafEie o)

St f efshvERT gofe, S W dem o o @

GIEIRE

;. difcha: (i) TWIIETR: | 2
(ii) T Al AT §= famata ||®_
S T I a%] FHTES | (

@ f1ad B ®9 & & AT FTHA;

JOAEY T o 7 SiHgdahHor:

rerref:

AT ggars HHO -

g ! @ (i) S | FHEFAET: g FH 0T (i) | 7
S B T B (i T |

L AT
7, 4, ST¥gEd:, oY, SHiddd, Y |

he blanks in the following prose order renderings : 1Y5x1%=3

) TAENT "HE AeEEad o 9 |
I AEdEG GATT: q9 A ||

=
aa: T a: (i) e "7 T (i) | STEar: dre
(i) T ATE: AT |



@) guH IHAISY A ad: |
HIFHET X AT &l TH FALTOH | |

=g:
e () iy, aa: afasesr (i) T[T HITHT B
(iii) T 22|

9. JUIEIH IRA :
TEY T T ¢

Answer as directed : O
(/) & % ®HUA? ()
B fHdH wE W T ?

Who is saying this to whom ? L 4 1x2=2
() = ¥ Fueiemiy SO IadH |
@) aETEEtES /U

(@) fag= fea
g v &

Select the qualified noun: 1x2=2
() TRONTHRTGTHT WTERE: |
(i) <TEUN WeHEe: |

<1T>
Select the subj 1x2=2
(i

iwqaamﬂ|

JUHIA: |7 AR 9T “Tw:” 2fd qaamde w8 GG ?
R gorHuE: 17 3| e W s g geam ue fhee forg

7 T fIRET yorH9Eta: 1 In this sentences pronotind:” has been employed
or whom ? 2

Srenfaigaaear: tI'éil'i'éﬁ ?r@ﬂ‘ :

fr=foiaa wel & v fafey

Write the synonyms of the following words : Yot+lo=1
() =

@ g
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(@) enfdiEdquedn: fodmae @&
FrfeiEd uei & faam g fofey :
Write the antonyms of the following words : Yot+lo=1
() @&
@ faog

10. SreifaRaadn: e dera-aRaa: e -
e & & el o &1 gfera aime g O
1x5=5

Write a brief note on argneof the following :

() Fogm ()
(i) ST
.
@vs: ¥ (SECTION D) @
BRISAER: < '

BT U9 IAAgR
Chhanda andAk{% 20

11. (3) Y I :
g9l & JAX ST

Answer the questions : 1x6=6

() EA": T TEHafd?
0 i e G

1x2=2

f=faleaa & & el T& ©< &1 e fafag :

lllustrate anyneof the following metres with an example : 2x1=2

S, SR, MEEashITSa |
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12. (31) orenfafgar: afwmm q@d o

49

Complete the following definitions : 1x4=4
0 e og T |

(i) I TAIIET |

(i) SrITE: ST |

(v) 9 areHde=t |

SENTATEAl: Thed g Tae o HRUl o Tlhsd

ﬁmﬁ@aﬁaw@wwwwaﬁxwaﬁ@w
lllustrate anyoneof the following figures of speech with an exa nd justify the

usage: L 2 3x1=3
aFaaTE:, 96 | 0
Freferfadaiey & Sfergrn: -
frfafaa dfeal & -8 oagR ¥
i i i&as. 1x3=3

Name the figures of speech in the foll

() U TENOEIET SRS

(i) ST AT gYEwd atsaad |
(i) uzgﬁrﬁa@ﬁz%

Q;\~
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